WHOLE NUMBERS
Study the three different properties

I.  Commutative Property (Order not Important)

Addition

3 + 9 = 9 + 3

Reverse it

Multiplication
3 X 9 = 9 X 3   
  
Reverse it

II. Associative Property (Grouping)

[image: image1.wmf] 

Addition  

(5 + 3) + 6 = 5 + (3 + 6)


Change the (   )



Multiplication
(5 X 3) X 6 = 5 x (3 x 6)










Change the (   )

III. Distributive Property

2(4 + 3) = 2 X 4 + 2 X 3
Distribute the 2

         Name the property being used in problems 1 through 4 below?

 1.
12 + (8 + 6) = (12 + 8) + 6        _____________________________

 2.
11 X 5 = 5 X 11

______________________________

 3.
7(2 + 5) = 7 X 2 + 7 X 5       ________________________________


4.
(4 X 6) X 8 = 4 X (6 X 8)    _________________________________

 5.
Which expression could be used to determine the answer?

Campaign badges were given to 15 volunteers to pass out.  Each volunteer was given 3000 badges.  How many badges were given to the volunteers?



A.  3000 ( 15 = N

B.  3000 + 15 = N

C.  3000 X 15 = N

D.  3000 = N – 15 

E.  NH

6. 
Place the correct sign (=, >, or  <,) in the box.




  2(6 x 8)                3(6) + 8(9)

7.
Which of these numbers has a 6 in the units place, 4 in the thousands        

             place, and a 9 in the hundreds place?



A. 4940

B. 6493

C. 4936
D. 4096

   
E. NH

8.
Find the value of each item used in the following expressions:



( –  (  = 6

( + ( = 18

( + ( = 15



Answer:    ( = ______  
( = _______

( = ______
 

9.
Which point shows the value of 2 + 2( 6 – 3 ).



                        P
  Q          R        S           T

                               -2      -1     0       1     2        3       4       5      6      7     8      9      10

A.  P

B.  Q

C.  R

D.  S

E.  T

10.   
What is another way to write fifty-three and forty-seven thousandths?

A. 53.047

B. 0.5347
C. 53.0047

D. 53,047,000

E. NH

11.
In the Venn diagram below R = {1, 3, 5, 7, 9} and S = {2, 3, 6, 9}.

            R and S are subsets of the set Z of whole numbers.







































A. What is the intersection of R and S?  

B. What in the union of set R and S?

12.
Complete the Venn diagram below to show the different colors used for painting by the three students.





Colors Used for Painting

Sally


Harry


Mary

Red


Orange

Red

Purple


Purple


Black

Brown


White


White

Green


Yellow


Gray

White


Blue


Blue

Silver


Brown

                                                                               Mary                                                                                        Sally







             
          Harry

13.
Which number is the closest in value to the 4?


                                              0         1          2            3         4           5           6     

 A. 3.49

B. 4.5

C. 4.59

D.  4.621

14.
Which operation should be used in the box to make the smallest number

possible?                  60   ?    6 =


A. +

B. –

C. x

D. (

E. NH

15.
Which of the following operations will make the number sentence true?


4           3            2   =  10

A. x and – 
B. + and –
C. x and +
D. + and x
E. NH

16.
Which of the following is another way to express 6 X 7?

A. 6+6+6+6+6+6
B. 6+40+2
C. (6x3) + (6x4)
D. 6(40 X 2)

E. NH

17.
What are the common factors of 6 and 12?

A. (1,2,3,6)
B. (3,4,6)
C. (1,2,3,4,6,12)
D. (6)
    E. NH

18.
Ms. Morris placed the numbers 4, 7, 5, and 6 on the chalkboard.  Using each

number only once what is the greatest possible 4-digit number she could use?

A. 4,756
B. 6,574
C. 7,564
D. 7,654
E.  NH

19.
Mrs. Smith placed the numbers 8, 7, 9, and 6 on the chalkboard.   Using each number only once what is the greatest possible 4-digit number she could use?

A. 6,789
B. 9,786
C. 9,876
D. 9,678
E. NH
20.
In the numeral 842.4 the value of the 4 in the tens’ place is how many times


the value of the 4 in the tenths’ place?

A. 40

B. 10

C. 100

D. 1000
E.  NH

WHOLE NUMBERS ANSWER SHEETS

Study the three different Properties

  
I. 
Commutative Property


Addition

3 + 9 = 9 + 3      Reverse it



Multiplication
3 X 9 = 9 X 3     Reverse it


II.     Associative Property (Grouping)


Addition  

(5 + 3) + 6 = 5 + (3 + 6)


Change the (   )



Multiplication
(5 X 3) X 6 = 5 x (3 x 6)










Change the (   )

III. Distributive Property

2(4 + 3) = 2 X 4 + 2 X 3
Distribute the 2

Name the property being used in problems 4 through 7 below?

1.
  
12 + (8 + 6) = (12 + 8) + 6        _____Associative property___________

2.

11 X 5 = 5 X 11

______Commutative property__________

3.

7(2 + 5) = 7 X 2 + 7 X 5       _______Distributive property___________

4.

(4 X 6) X 8 = 4 X (6 X 8)    _______Associative property_________

5.
Which expression could be used to determine the answer?


Campaign badges were given to 15 volunteers to pass out.  Each volunteer

            was given 3000 badges.  How many badges were given to the volunteers?


A.  3000  ( 15 = N

B.  3000 + 15 = N

C.  3000 X 15 = N

D.  3000 = N – 15
6.
Place the correct sign ( =, >, or  <, ) in the box.




  2(6 x 8)                3(6) + 8(9)



        96         >     90

7.
Which of these numbers has a 6 in the units place, 4 in the thousands place,


and an 9 in the hundreds place?


A.  4940

B.  6493

C.  4936
D.  4096
E.  NH
8. 
 Find the value of each item used in the following expressions:


        ( –  (  = 6                      ( + ( = 18
         ( + ( = 15

Step 1   12 – 6 = 6 
   Step 2  9 + 9 = 18      Step 3  9 + 6 = 15 


Answer:    ( = ___12___  
( = __  6___

( = ___9___
9.
Which point shows the value of 2 + 2( 6 – 3 ).  


Step  1  Do the computation in the parenthesis first  6 – 3 = 3


Step  2  Multiply the 2 outside the parenthesis by the 3 = 2(3) = 6


Step  3  Add the 6 to the remaining 2 =  8


Therefore, the answer is 8 or point S



                                     P             Q           R            S     T

                                    -3      -2      -1       0      1       2        3        4       5       6      7       8      10     

A.  P

B.  Q

C.  R

D.  S

E.  T

10.
What is another way to write fifty-three and forty-seven

thousandths?


SOLUTION:
Any numbers that follows the decimal point is a part of 




a number or is a fraction.  The number that follows the 




decimal point is less than 1.  




EXAMPLE:  What number is in the hundredths 

place in 4.378?




The answer is 7.  Start counting from the right of the decimal

      point.  The first number is “3 tenths”.  The 

     second number is “7 hundredths”. 



Here is a diagram:  Whole Number .Tenths, Hundredths, 





           Thousandths, ….


Therefore, the answer is A.

A. 53.047

B. 0.5347
C. 53.0047

D. 53,047,000

E. NH

11.
In the Venn diagram below R = {1, 3, 5, 7, 9} and S = {2, 3, 6, 9}.

R and S are subsets of the set Z of whole numbers.

































A. What is the intersection of R and S?  

B. What in the union of set R and S?



SOLUTION:  Step 1: The definition of both Intersection and Union





  explained.





Step 2:  The member(s) of intersection and union stated.


DEFINITION:  Intersection lets you know what members are part of 




   both sets.  Union is the combination of both sets together.



A. There is only one member that is a part of sets R and S;  it is 6.



B. The union of sets R and S is {1, 2, 3, 5, 6, 7, 9}

12. 
Complete the Venn diagram below to show the different colors used for painting by the three students.





Colors Used for Painting

          
Sally

      
 Harry
   
       
Mary

 
Red


Orange
            Red

Purple


Purple


Black

Brown


White


White

Green


Yellow


Gray

White


Blue


Blue

Silver


Brown

  Answers                                                             


                                        Sally                                                                                        Mary

                                              Green & Silver            Red
   Black & Gray







           white





          Purple     





   &  Brown                    Blue

                  

Harry

Orange & Yellow

13.     Which number is the closest in value to the 4?


                                   0              1              2               3             4              5             6     

 

 
A.  3.49

         B.  4.5

     C.  4.59
           D.  4.621

14.     
Which operation should be used in the box to make the smallest number

possible?                  60   ?    6 =


A.  +

B.  – 

C.  x

D.  (
15.
Which of the following operations will make the number sentence true?


4           3            2   =  10


A.  x and  – 

B.  + and –

C.  x and +

D.  + and x

16. Which of the following is another way to express 6 X 7?

SOLUTION:  6 x 7 = 42; It also can be written as follows:

a. 20 + 22

b. 18 + 24

c. 16 + 26 and so on.

By taking the product of the sum of 18 + 24, the answer will be 



42.



Therefore, choice C is the answer.

A. 6+6+6+6+6+6
B. 6+40+2
C. (6x3) (6x4)
D. 6(40 X 2)

E. NH

17.      What are the common factors of 6 and 12?

A.  (1,2,3,6)
B.  (3,4,6)
C.  (1,2,3,4,6,12)
D.  (6)

E.  NH

18.      Ms. Morris placed the numbers 4, 7, 5, and 6 on the chalkboard.  Using each

number only once what is the greatest possible 4-digit number she could use?

A.  4,756
B.  6,574

C.  7,564

D.  7,654    


The largest possible number of these 4-digits placed in ascending order is

19.
Mrs. Smith placed the numbers 8, 7, 9, and 6 on the chalkboard.   Using each number only once what is the greatest possible 4-digit number she could use?


A.  6,789

B.  9,786

C.  9,876
D.  9,678
E.  NH

20.
In the numeral 842.4 the value of the 4 in the tens’ place is how many times


the value of the 4 in the tenths’ place?








40 (100 = .4 


Therefore, .4 x 100  = 40   Answer = 100


A.  40

B.  10


C.  100


D.  1000
